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Fill in the blanks (Quesrions 11 - 15)
| E Mﬂ:ﬂ Agreatsource _ happincss
3 of B. for C. on
5 h Best we will _ vour work and th
: id feedback.
J'LIHI'.IE B. judge (. measure
13 What is the cause the problem?
A. of B. on . about D. 1n
14. Ifh!:ls not inttrtﬁ[ﬁd, we will .- the PI 'F_"-""‘I
A vacant B. abandon C. impulsc D. rem
15. Both parties must adhere the terms of the contraci
A in B. by C. on D. t
Find the correctly spelt word (Questions 16 - 17)
| Iiﬁ. A, Bureacracy B. Bereaucrac
i C. Buercacracy D Bureaucracy
W A Deference B. Defferance

C EEE@EDC D Defference
l;monymh of Catastrophe 1s

ﬂ | B. Implement C. Destruction D). Fresh

ﬁ:l’.l . ,Hbm “Tie l:hc knot” means?
B. Critcism

D, Wear a tc

ﬁwm he was seen by me,
* seen (0 be leaving the house.
seen leaving the house by me.
m m leaving the house

D. Future

C. Classmate

34
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| 36

38,

39,

. 'The cost price of a product is 64% of the

- Ina 300 m race A beats B by 22.5 m or 6 seconds. B’s time

30.

¢ 1

]

Aaiw  B.130

.r'- p-la

much s the gain in percent if the pteduci:“;s St?ﬂd allow
dlscount of 12%.

A 37.5% B. 38.5%

C. 42.5% D. 27.5%

over the course is:

A. B6 sec B. 80 sec C. 76 sec D.99 sec
Three years back, a father was 24 years older than his son. At
present the father is 5 times as old as the son. How old will the
son be three years from now?

A. 12years B.2 C. 3 years D. 9 years

A committee has 5 men and 6 women. What are the number
of ways of selecting a group of eight persons?

A. 165 B. 185 C. 205 D. 225

A and B started a business investng Tk 22,500 and Tk
35,000 respectively. Out of a total profit of Tk. 13 800, B’s

share is:

A. 5400

7 years

B. 7200 C. 8400 D. 9600

- Prand Q can complete a work in 15 days and 10 days

tespectively. They started the work together and then QQ left

after 2 1 P alone completed the remaining work. Total
days to sh the work was: www.prebd.com

A. 12 1 B. 15 d”i.‘l.'a 29 d:ﬂ: D. 20 da}?s
Find the area of a thombus whose side is 25 cm and one of
the diagonals 1s 30 cm?

\. 225 sq.cm B. 360 sq.cm C. 600 sq.cm D. 480 sq.cm
[n a training camp, 18 men can eat 20 kg of rice in 3 days.
How long will 6 men take to eat 40 l-:g of nice?

B. 18 C. 32 D, 20

The sum of two numbers 1s 25 and their difference is 13. Find
their product:

A. 104 B. 114 C. 315 D. 325

A train 240 m long passes a pole in 24 seconds. How long will
it rake to pass a platform 650 m long?

A 80Sec B.895cc C. 90 Sec D. 95 Sec
Ot of 10 persons working on a project, 4 are graduates. [f3

elected, what is the probability that there 1s at least one

"l.= :" ()

are s

acduate among them?
flﬁ] B. 5/8 C.3/8 D. 5/6

A cistern can be filled by a tap in 4 hours while it can be
empied by another tap in 9 hours. If both the taps are opened
sitny|caneously, then after how much time will the cistern get
filleq;

A 45 hys B Shrs C. 6.5 hrs D. 7.2 hrts
85%, of a numbcr 13 added to 24, the result 1s the same

NUmlyer. Find the number?

Alsy B 140 C. 130 D. 160
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thmt of stock market 5 Dhaka Stock Exchange?
A Brokersge Market B. Dealers Market
E-Ph:t-‘ﬁnhnm Market 1. Virtual Mariiet

e of Dhika Stock Exchange shares were sold
Chinese stock I:lthl!:gl::?‘

= Ao B ﬁ'ﬁ"- LI D 53
- Which countey s Cricket At ity autional spaitt?
A South Afnes B, India
€ Sni Lania . Jumaica
47 ::H-'l:ntr?lh noted bear the SEmatiie of
1

B (‘nmnn: Ihnpiu"r b Bank
D Secretury, Mutistrr of Futanee
Web pages contain commands

. Fmance Misisier

. Mot World Wide in the
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A.NIH B HTML . URL 3 IR
49, Which ome of the follow NG 18 ot & compruter luguage?
ﬁ ASCAL B UNFX :
PORTRAN D COBOL
50 "-':"h“ i3 the protnoter of Chinese 'One Belt One Road!
LTI IO
q"l.. i Jinping B, Chixnp Kasak
C Shinzo Abc
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PART-II: Writing Ability Teat
{Lse the Written Anewer Seopt Supplicd to Arewer Quen tiorne: 51-55)

]'!"{ afion; 75 minuics Murics: 50

51. You eat it yosur office cafetests every lunchnme However,
votl think it necds wome improvements. Weite o leter 1o
the cafetena authonny repacding this. In your letter, (L)

o pxplan what you ke sbour the cifereda
' ay what 1 wrong with it www-prebd com
o auggrest hivw it cotlld be improved
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Global Islami Bank Ltd

Probationary Officer - 2021
Question Solution

1) If 40 is subtracted from 60% of a number, the result is 50. Find the number.
a) 110
b) 130
c) 140
d) 150
Solution:

Let, the number is x

ATQ,

60%xx -40 = 50

Or, 60x - 40 =50

Or, 60x - 4000 = 5000
Or, 60x = 9000

Or, x = 150

2) The cost price of an article is 64% of the marked price. The gain percentage after
allowing a discount of 12% on the marked price iS www.prebd.com
a) 37.5%
b) 38.5%
c) 42.5%
d) 27.5%
Solution:
Marked Price = tk100
Cost Price = tk 64
Discounted price = tk 88

H8-64

Gain% = x100% = 37.5%

3) In a 300 m race, A beats B by 22.5 m or 6 seconds. B's time over the course is:
a) 86 sec
b) 80 sec
c) 76 sec
d) 99 sec

B runs 22.5 m in 6 seconds

6 x300

So, B runs 300 m in
22.5

= 80 seconds

B's time over the course = 80 seconds
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4) Three years back, a father was 24 years older than his son. At present the father is 5
times as old as the son. How old will the son be three years from now?

a) 12 years

b) 6 years

c) 3 years

d) 9 years

Solution:

Let, before 3 years son’s age was = X years

Present age of son’s = x+3 years

ATQ
X+2443 =5(x+3)
Or, x=3

Son's Age = 3+34+3=9

5) A committee has 5 men and 6 women. What is the number of ways of selecting a group
of 8 members?

a) 165

b) 185

c) 205

d) 225
Solution:

Members =6+5=11

11! 11x10x9x8! 990 990 65
8/(11-8)! 8(11-8)! 3 6

HCe =

6) A and B started a business by investing Rs. 2400 and Rs. 3600 respectively. At the end
4th months from the stat of the business, C joined with Rs. X. After 8 months from the
start of the business, B withdrew Rs. 600. If C's share is Rs. 8000 in the annual profit of Rs.
22500, what was the amount C invested in the business? www.prebd.com

a) Rs. 7200

b) Rs. 5800

¢) Rs. 4000

d) Rs. 4800

Solution:

A invests Rs. 2400 for 12 months

B invests Rs. 3600 for 8 months

And Rs. 3000 for 4 months

C invests Rs. x for 8 months

Ratio of profit of A, B and C = 2400x12: {(3600x8) + (3000x4)}: xx8

Or, 28800:40800:8x = 3600:5100:x

[
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Given, profit of C = Rs. 8000 and total profit of A, B and C = Rs. 22500
ATQ

36{}[}+51D{}+Exxzzs{]0 gty

Or, 22500x = 69600000+ 8000x
Or, 14500X=69600000
Or, x =Rs.4800

7) P and Q can complete a work in 15 days and 10 days respectively. They started the work
together and then Q left after 2 days. P alone completed the remaining work. The work was
finished in --- days.

a) 16

b) 24

c) 20

d) 12
Solution:

Work done by P in 1 day = —
1

Work done by Q in | day = =

: 1 1 1

Work done by P and Q in | day—E+ =

ISl

Work done by P and Q in 2 days = 2 xE=§
7 1 2
Remaining work = |- ==

202
Time taken by P to complete the remaining work = 15 = 10 days
Total time taken = 2 + 10 = 12 days

Another way

Time;, P: Q=15:10=3:2
Efficiency, P: Q=2:3

So, Total work = 15%2 or 10x3 = 30 units
Now, (2 + 3) x2 + 2xD = 30

=2 =720

=D =10

So, the work is finished in (2+10) = 12 days

L
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8) Find the area of a rhombus whose side is 25 ¢cm and one of the diagonals is 30 cm?
a) 225sqm
b) 360 sq m
¢) 600 sq m
d) 480 sqm 30
Solution:

d, 30
Half diagonal, 2—1: 5 15
One side = 25 25

d,
Half of another diagonal = -f =

With Pythagorean Theorem
25% =15+ x°
Or, x=20

Another diagonal = 20x2 =40

1 1
Therefore, the area of a rhombus = = Exdﬁdg ==X 30%x40 = 600 sg m
Another way

Pythagorean triplet = 3:4:5 = 15: 20:25
Therefore, the area of a rhombus = = %xdp-(dg = zl x 30x40 = 600 sq m

9) In a training camp, 18 men can eat 20 kg rice in 3 days, how long will 6 men take to eat

40 kg rice?
a) 20
b) 18
c) 32
d) 30

Solution:

|8 x20%3 = xx6x40
Or. x =18

www.prebd.com

10) The sum of two numbers is 25 and their difference is 13. Find their product.
a) 104
b) 114
c) 315
d) 325
Solution:

Let the numbers become x and y (X.y)
Here,

X+y=25---(1)

X—y=13-—- (2)

i
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(1) +(2)
2y = 38
Or,y=19

Now,x=25-19=6
Product=xy = 19x6 =114

11) A train 240 m long passes a pole in 24 seconds. How long will it take to pass a platform
650 m long?

a) 80 sec

b) 80 sec

c) 76 sec

d) 89 sec
Solution:

. . 240 1
Speed of the train= T 10 ms

240+650
Time request to cover 650 m platform = ( 7 ) =895

12) Out of 10 persons working on a project, 4 are graduates, If 3 are selected, what is the
probability that there is at least one graduate among them?

a) 1/6

b) 5/8

c) 2/8

d) 5/6
Solution:

Total persons = 10

Graduate = 4

Non graduate = 6

3C . 6x5x4 2

Probability (at least one graduate) = |- non graduate = 1- — = |- =
10¢ 10x9x8 12

_3
6

13) A cistern can be filled by a tap in 4 hours while it can be emptied by another tap in 9
hours. If both the taps are opened simultaneously then after how much time will the cistern

get filled?
a) 4.5 hrs

b) 5 hrs

c) 6.5 hrs

d) 7.2 hrs
Solution:

36
Time = == 7.2 hrs

Ln
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14) 85 % of a number is added to 24, the result is the same number
a) 150
b) 140
c) 130
d) 160
Solution:

Let, the number 1s X

ATQ,

85%xx - 24 = x
Or, 15%xx =24
Or, x = 160

15) The average weight of 16 boys in a class is 50.25 kg and that of the remaining 8 boys is
45.15 kg. Find the average weights of all the boys in the class.

a. 47.55 kg.

b. 48 kg.

c. 48.55 kg.

d. 49.25 kg.
Solution:

16x50+8x45 B800+360
16+8

= 48.55




